# CONSTRUCTION OF PRIMITIVES OF GENERALIZED DERIVATIVES WITH APPLICATIONS TO TRIGONOMETRIC SERIES

## P. S. BULLEN

**1. Introduction.** This paper is an extension of the ideas discussed in (3, §§ 14-16); the extension consisting of the use of the third and fourth symmetric Riemann derivative instead of the Schwarz or second symmetric Riemann derivative.

The  $J_2$ -integral, due to James (1), is defined in (3) as follows. Let f(x) be measurable on [a, b] and finite at each point; if there exists a continuous function F(x) such that  $D^2F = f$  everywhere on (a, b),

$$D^{2}F = \lim_{h \to 0} \frac{F(x+h) - 2F(x) + F(x-h)}{h^{2}}$$

then

(1.1) 
$$\int_{a,b}^{x} f(t)d_{2}t = F(x) - \frac{x-b}{a-b}F(a) - \frac{x-a}{b-a}F(b) = H_{2}(F;a,b,x).$$

The definition is unique since if F(x) and G(x) are continuous and  $D^2F = D^2G$  everywhere then

$$H_2(F:a, b, x) = H_2(G:a, b, x).$$

This integral has application to convergent trigonometric series, (3).

Using the third and fourth symmetric Riemann derivatives  $J_{3}$ - and  $J_{4}$ integrals are defined and applied to (C, 1) and (C, 2) summable trigonometric
series.

**2. Definitions.** With the notation of Kassimatis, (4), we write for any function F(x) defined at the points  $x_1, x_2, x_3, x_4$ ,

$$(2.1) \quad H_3(F:x_1, x_2, x_3, x_4) = F(x_4) - F(x_3) \frac{(x_4 - x_1)(x_4 - x_2)}{(x_3 - x_1)(x_3 - x_2)} \\ - F(x_2) \frac{(x_4 - x_3)(x_4 - x_1)}{(x_2 - x_3)(x_2 - x_1)} - F(x_1) \frac{(x_4 - x_2)(x_4 - x_3)}{(x_1 - x_2)(x_1 - x_3)},$$

$$(2.2) \quad V_3(F:x_1, x_2, x_3, x_4) = \frac{H_3(F:x_1, x_2, x_3, x_4)}{(x_4 - x_1)(x_4 - x_2)(x_4 - x_3)}.$$

Received November 6, 1959. This paper was written while the author was a fellow at the Summer Research Institute of the Canadian Mathematical Congress.

 $V_3$  is then the third divided difference of F(x). In particular if h > k > 0 we write

(2.3) 
$$w_3(F;x;h,k) = w_3(x;h,k) = 3!V_3(F;x+h,x+k,x-k,x-h)$$
  
=  $\frac{3}{h^2 - k^2} \left\{ \frac{F(x+h) - F(x-h)}{h} - \frac{F(x+k) - F(x-k)}{k} \right\},$ 

(2.4)  $w_3(F:x;3h,h)$ =  $\frac{\Delta^3(F:2h)}{(2h)^3} = \frac{F(x+3h) - 3F(x+h) + 3F(x-h) - F(x-3h)}{(2h)^3}$ .

From (2.3) and (2.4) we define

Clearly

(2.5) 
$$\Delta^{\prime\prime\prime}F(x) = \lim_{h,k\to 0} w_3(x;h,k), \qquad \delta^{\prime\prime\prime}F(x) = \lim_{h,k\to 0} w_3(x;h,k),$$

(2.6) 
$$\overline{D}^{3}F(x) = \overline{\lim_{h \to 0}} w_{3}(x; 3h, h), \qquad \underline{D}^{3}F(x) = \lim_{h \to 0} w_{3}(x; 3h, h),$$

and if  $\underline{D}^{3}F(x) = \overline{D}^{3}F(x)$  we say that F(x) has a third symmetric Riemann derivative at x and write it  $D^{3}F(x)$ .

(2.7) 
$$\delta^{\prime\prime\prime}F \leqslant \underline{D}^3 F \leqslant \overline{D}^3 F \leqslant \Delta^{\prime\prime\prime}F.$$

The following lemma, which generalizes Theorem 19, (3), is needed later.

LEMMA 2.1. If F'' exists in an interval containing x and if  $\Delta_1(\delta_1)$  is the greater (smaller) of the first derivates of F'' then

(2.8) 
$$\delta_1 \leqslant \delta^{\prime\prime\prime} \leqslant \Delta^{\prime\prime\prime} \leqslant \Delta_1.$$

All points will be assumed to be interior to the interval mentioned in the statement of the lemma. It is sufficient to prove  $\delta_1 \leq \delta$  as a similar argument will complete (2.8). Further we may obviously assume  $\delta_1 > -\infty$ . The proof is in two parts.

(a) Assume  $\delta_1 < \infty$ . From the definition of  $\delta_1$ , if  $\epsilon > 0$  is given, there exists  $\mu > 0$  such that if  $0 < \eta$ ,  $\xi < \mu$  then

$$F^{\prime\prime}(x+\eta) - F^{\prime\prime}(x) > \eta(\delta_1 - \epsilon),$$
  
$$F^{\prime\prime}(x-\xi) - F^{\prime\prime}(x) < \xi(\delta_1 - \epsilon).$$

Consider the function X(u) defined by

$$X(u) = F(x + u) - F(x) - uF'(x) - \frac{u^2}{2!}F''(x) - \frac{u^3}{3!}(\delta_1 - \epsilon).$$

The following properties of X(u) are immediate,

$$X'(u) = F'(x + u) - F'(x) - uF''(x) - \frac{u}{2!} (\delta_1 - \epsilon),$$
  

$$X''(u) = F''(x + u) - F''(x) - u(\delta_1 - \epsilon),$$
  

$$X(0) = X'(0) = X''(0) = 0,$$

(2.9) 
$$\begin{aligned} X''(u) &> 0 \text{ if } 0 < u < \mu, \\ X''(u) &< 0 \text{ if } -\mu < u < 0, \end{aligned}$$

(2.10) 
$$w_3(X:0;h,k) = w_3(F:x;h,k) - (\delta_1 - \epsilon).$$

It follows, from (2.10), that it is sufficient to show that, for all h, k small enough,  $w_3(X:0; h, k) \ge 0$ . To do this define, for  $0 < u < \mu$ ,

$$Y(u) = \frac{X(u) - X(-u)}{u}$$

Then by (2.3)

$$w_3(X:0;h,k) = \frac{3}{h^2 - k^2} (Y(h) - Y(k)).$$

If, therefore, Y(u) is monotonic increasing for all u small enough, then  $w_3(X:0; h, k) \ge 0$ . Now

$$Y'(u) = -\frac{1}{u^2} [\{X(u) - uX'(u)\} - \{X(-u) - (-u)X'(-u)\}]$$
  
=  $-\frac{1}{u^2} [Z(u) - Z(-u)]$ 

where Z(u) = X(u) - uX'(u). Z(u) is clearly defined wherever X(u) and X'(u) are defined and

$$Z'(u) = - uX''(u) \leqslant 0$$

by (2.9). Hence  $Z(-u) \leq Z(u)$  and hence  $Y'(u) \geq 0$  wherever Y'(u) is defined.

Thus we have shown that Y(u) is monotonic increasing and the result follows.

(b) Assume  $\delta_1 = \infty$ . Then in the above argument replace  $\delta_1 - \epsilon$  by an arbitrary positive number A to arrive at  $\delta''' = \delta_1 = \infty$ .

The following lemma due to Saks, (5), will be required later.

LEMMA 2.2. If F'(x) exists everywhere in [a, b] and  $\underline{D}^{3}F > 0$  in (a, b) then F'(x) is continuous, convex, and

 $(2.11) \qquad \qquad \Delta^3 F(x;2h) \ge 0$ 

for every x, h > 0  $(a \leq x - 3h < x + 3h \leq b)$ .

**3.** We now wish to define a class of functions for which  $D^3F = D^3G$  everywhere in an interval implies  $H_3(F: x_1, x_2, x_3, x_4) = H_3(g: x_1, x_2, x_3, x_4)$  for all sets of four points in that interval. As has been pointed out by Kassimatis, (4), continuity of F and G is not enough.

LEMMA 3.1. If F'(x) exists and is continuous in [a, b] then

(3.1) 
$$\min_{a < x < b} \underline{D}^3 F(x) \leq 3! \ V_3(F: x_1, x_2, x_3, x_4) \leq \max_{a < x < b} \overline{D}^3 F(x)$$

for all  $x_1, x_2, x_3, x_4$  in [a, b].

The argument is that of Verblunsky, (6). Define

(3.2) 
$$f(x) = F(x) - (ax^3 + bx^2 + cx + d)$$

where a, b, c, d are determined by the conditions

$$f(x_1) = f(x_2) = f(x_3) = f(x_4) = 0$$

for some  $x_1, x_2, x_3, x_4$  in (a, b). Simple calculations then show that

$$a = V_3(F; x_1, x_2, x_3, x_4).$$

Since f(x) has four zeros, f'(x) has three zeros and a maximum at some point  $\xi$ , say. Then we must have

for a sequence of  $h_i, h_i \rightarrow 0$ . For if not, then for all h small enough

$$\Delta^3 \frac{(f:\xi:2h)}{(2h)^3} > 0$$

that is,

$$\frac{f(\xi+3h) - f(\xi-3h)}{6h} > \frac{f(\xi+h) - f(\xi-h)}{2h} > \dots > f'(\xi),$$

which contradicts the fact that f'(x) has a maximum at  $\xi$ . As we have (3.3) it follows that

$$\underline{D}^{3}f(\xi) \leqslant 0$$

that is,

$$\underline{D}^{3}F(\xi) \leqslant 3! a = 3! V_{3}(F:x_{1}, x_{2}, x_{3}, x_{4}).$$

This proves the left-hand inequality of (3.1). The right-hand inequality comes from applying the above result to -F. Finally the result holds for  $x_1, x_2, x_3, x_4$ , in [a, b] by continuity of F(x).

An immediate corollary of Lemma 3.1 is

LEMMA 3.2. If the relation (3.1) holds for F(x) - G(x), in particular if (F - G)' is continuous, then  $D^3$  (F - G) = 0 implies

$$(3.4) H_3(F:x_1,x_2,x_3,x_4) = H_3(G:x_1,x_2,x_3,x_4)$$

for all  $x_1, x_2, x_3, x_4$  in [a, b].

Let

$$F_1(x) = H_3(F: x_1, x_2, x_3, x)$$
  

$$G_1(x) = H_3(G: x_1, x_2, x_3, x).$$

Then  $D^{3}(F_{1} - G_{1}) = 0$  and hence, by (3.1),

$$V_3(F_1 - G_1; y_1, y_2, y_3, y_4) = 0$$

#### P. S. BULLEN

for all  $y_1$ ,  $y_2$ ,  $y_3$ ,  $y_4$ .  $F_1(x) - G_1(x)$  is therefore a polynomial of degree at most 2 but it is zero at  $x_1$ ,  $x_2$ ,  $x_3$  and hence is identically zero.

The following lemma, due to Kassimatis, (4), obtains (3.4) under weaker conditions than the continuity of (F - G)' but it is quite possible that (3.1) holds under less restrictive conditions which would then generalize Lemma 3.2.

LEMMA 3.3. If F(x) and G(x) are defined in [a, b] and (i) F - G is continuous in [a, b], (ii) (F - G)' exists in (a, b) then  $D^3(F - G) = 0$  implies (3.4).

**4. The**  $J_3$ -integral. Let f(x) be defined and measurable on [a, b] and finite at each point. If there exists a function F(x), continuous on [a, b] and differentiable on (a, b) such that  $D^3F = f$  then we define the  $J_3$ -integral of f to be

(4.1) 
$$\int_{x_1,x_2,x_3}^x f(t)d_3t = H_3(F:x_1,x_2,x_3,x)$$

where  $x_1, x_2, x_3, x$  are any four points of [a, b] and  $a \leq x_1 < x_2 < x_3 \leq b$ . Lemma 3.3 ensures that this definition is unique.

If f(x) is complex valued and f(x) = u(x) + iv(x) then we define the  $J_3$ -integral of f(x), if it is defined for both u(x) and v(x), by

$$\int_{x_1,x_2,x_3}^x f(t)d_3t = \int_{x_1,x_2,x_3}^x u(t)d_3 + i \int_{x_1,x_2,x_3}^x v(t)d_3(t).$$

The following elementary properties of this integral are immediate.

(a) If f(x) and g(x) are  $J_3$ -integrable on [a, b] so is  $\alpha f(x) + \beta g(x)$  for any numbers  $\alpha$ ,  $\beta$  and

$$\int_{x_1,x_2,x_3}^x \{\alpha f(t) + \beta g(t)\} d_3 t = \alpha \int_{x_1,x_2,x_3}^x f(t) d_3 t + \beta \int_{x_1,x_2,x_3}^x g(t) d_3 t.$$

(b) If f(x) is  $J_3$ -integrable on [a, b] it is also  $J_3$ -integrable on any subinterval  $[\alpha, \beta]$  and if

$$F(x) = \int_{a,\gamma,\delta}^{x} f(t)d_{3}t \quad \text{then if } \alpha \leqslant \delta \leqslant \beta \quad \text{and} \quad \alpha \leqslant x \leqslant \beta$$
$$\int_{\alpha,\delta,\beta}^{x} f(t)d_{3}t = H_{3}(F;\alpha,\delta,\beta,x).$$

### 5. Application to trigonometric series.

THEOREM 1. Let f(t) be the (C, 1) sum of the series

$$\sum_{-\infty}^{\infty} c_n e^{int}, c_0 = 0,$$

and let

(5.1) 
$$F(t) = \sum_{-\infty}^{\infty} \frac{c_n e^{int}}{(in)^3},$$

then

(5.2) 
$$\int_{x_1,x_2,x_3}^{x} f(t) d_3 t = H_3(F; x_1, x_2, x_3, x).$$

To obtain this result we need the following lemma (6, II, p. 69).

Lемма 5.1. "If

$$\sum_{-\infty}^{\infty} c_n e^{inx}, \quad c_0 = 0,$$

is summable  $(C, \alpha), \alpha \ge -1$  at  $x_0$  to s then it is summable R, at  $x_0$  to s provided  $r > 1 + \alpha$ . By this we mean that

$$\lim_{h\to 0} \sum_{-\infty}^{\infty} c_n e^{inx} \left( \frac{\sin n h}{inh} \right)^r = s.''$$

The result as stated in (8) requires  $\alpha > -1$  but it is in fact true when  $\alpha = -1$  when it is the result of (8, I, p. 322).

Simple calculations give

$$\frac{F(x+h) - F(x-h)}{2h} = \sum_{-\infty}^{\infty} \frac{c_n}{in^2} e^{inx} \left(\frac{\sin nh}{inh}\right)$$
$$\frac{F(x+2h) - 2F(x) + F(x-2h)}{(2h)^2} = \sum_{-\infty}^{\infty} \frac{c_n}{i^3n} e^{inx} \left(\frac{\sin nh}{inh}\right)^2$$
$$\frac{F(x+3h) - 3F(x+h) + 3F(x-h) - 3F(x+3h)}{(2h)^3} = \sum_{-\infty}^{\infty} \frac{c_n}{i} e^{inx} \left(\frac{\sin nh}{inh}\right)^3.$$

By hypothesis the series  $\sum c_n e^{int}$  is summable (C, 1) and hence the series

$$\sum \frac{c_n}{n} e^{inx}$$
 and  $\sum \frac{c_n}{n^2} e^{inx}$ 

are summable (C, 0) and (C, -1) respectively.

Hence by Lemma 5.1  $D^3F = f$  everywhere and  $D^2F$  and D F exist and this implies the existence of F'(x), (4). This then proves that f is  $J_3$ -integrable and gives (5.2).

THEOREM 2. If

$$\sum_{-\infty}^{\infty} c_n e^{int}$$

is summable (C, 1) to f(t) then

(5.3) 
$$c_n = -\frac{3}{8\pi^3} \int_{-4\pi, -2\pi, 2\pi}^0 f(t) e^{-int} d_3 t.$$

We first calculate  $c_0$ . In Theorem 1 we assumed for simplicity that  $c_0 = 0$  but this clearly involves no loss in generality.

Hence we know that

$$\int_{-4\pi,-2\pi,2\pi}^{0} f(t)d_{3}t = H_{3}(F:-4\pi,-2\pi,2\pi,0)$$
$$= F(0) + \frac{1}{3}F(-4\pi) - F(-2\pi) - \frac{1}{3}F(2\pi),$$

where

$$F(x) = \frac{c_0 x^3}{3'} + \sum_{-\infty}^{\infty} \frac{c_n e^{inx}}{(in)^3}.$$

Since the last term on the right-hand side is periodic its contribution to the integral is zero. Therefore,

$$\int_{-4\pi,-2\pi,2\pi}^{0} f(t)d_{3}t = \frac{1}{3} \frac{c_{0}}{6} (-4\pi)^{3} - \frac{c_{0}}{6} (-2\pi)^{3} - \frac{1}{3} \frac{c_{0}}{6} (2\pi)^{3}.$$
$$= -\frac{8\pi^{3}}{3}c_{0}.$$

To calculate  $c_n$ , n > 0, requires  $f(x)e^{inx}$  to be expressed as the (C, 1) sum of a trigonometric series with constant term  $c_n$ . This has been done by James, (2), and then a similar calculation to the one above completes the proof of (5.3).

**6.** Construction of the  $J_3$ -integral. The  $J_3$ -integral can be constructed by methods used in Jeffery, (3), to construct the  $J_2$ -integral.

THEOREM 3. Let  $f(x) \in L(a, b)$  and let f(x) be the finite third symmetric Riemann derivative of a function continuous in [a, b] and differentiable in (a, b). Further let

(6.1) 
$$\Phi(x) = \int_a^x \int_a^u \int_a^v f(t) \, dt \, dv \, du,$$

then

(6.2) 
$$\int_{x_1,x_2,x_3}^x f(t) d_3 t = H_3(\Phi; x_1, x_3, x_3, x).$$

Since the construction follows the lines of (3) it is only sketched here to point out certain differences.

We first determine a sequence of continuous functions  $U_n(x)$  such that  $\underline{D}^3 U_n(x) > f(x)$  and which converges uniformly to  $\Phi(x)$ .

As in (1) define  $A_n(x)$  such that, with the notation of Lemma 2.1,  $\delta_1 A_n(x) > (x)$  and  $A_n(x)$  converges uniformly to  $\int_a^x f(t) dt$  as  $n \to \infty$ .

Then the required  $U_n(x)$  is

$$U_n(x) = \int_a^x du \int_a^u A_n(t) dt,$$

which clearly converges uniformly to  $\Phi(x)$  and, from the continuity of  $A_n(x)$ ,

$$U'_n(x) = \int_0^x A_n(t) dt, \qquad U''_n(x) = A_n(x).$$

By Lemma 2.1

$$\delta^{\prime\prime\prime} U_n(x) \ge \delta_1 U_n = \delta_1 A_n > f(x) = D^3 F(x)$$

where F(x) is some function continuous on [a, b] and differentiable on (a, b). Hence

$$\underline{D^3}(U_n(x) - F(x)) > 0$$

and so, by Lemma 2.2,

$$\Delta^3(U_n-f)(x:2h) > 0$$

for all x, h > 0, a < x - 3h < x + 3h < bHence letting  $n \in \infty$ 

 $\Delta^3(\Phi - F)(x \ 2h) \ge 0$ 

which implies

$$D^3(\Phi - F) \ge 0.$$

In a similar manner it can be shown that

$$\bar{D}^3(\Phi - F) \leqslant 0$$

which together with the previous inequality implies

$$D^3(\Phi - F) = 0.$$

From Lemma 3.2 this gives

$$H_3(F: x_1, x_2, x_3, x_4) = H_3(\Phi: x_1, x_2, x_3, x_4),$$

completing the proof of the theorem.

A function is said to be Lebesgue integrable at a point  $x_0$  if it is Lebesgue integrable in every sufficiently small neighbourhood of  $x_0$ .

As in (3) the above result can be extended to functions f(x) which have a finite number of points at which they are not Lebesgue integrable. This can be done provided only that if  $\beta$  is such a point, then

$$\lambda(x) = \int_{\alpha}^{x} \int_{\alpha}^{u} f(t) \, dt \, du$$

is Denjoy integrable in some interval  $(\alpha, \gamma)$  containing  $\beta$ .

7. The fourth symmetric derivative. We now indicate the definitions and results in the case of the fourth symmetric Riemann derivative. As in § 2 we define

$$(7.1) \quad H_4(F:x_1, x_2, x_3, x_4, x_5) = F(x_5) - F(x_4) \frac{(x_5 - x_1)(x_5 - x_2)(x_5 - x_3)}{(x_4 - x_1)(x_4 - x_2)(x_4 - x_3)} \\ - F(x_3) \frac{(x_5 - x_4)(x_5 - x_1)(x_5 - x_2)}{(x_3 - x_4)(x_3 - x_1)(x_3 - x_2)} \\ - F(x_2) \frac{(x_5 - x_3)(x_5 - x_4)(x_5 - x_1)}{(x_2 - x_3)(x_2 - x_4)(x_2 - x_1)} - F(x_1) \frac{(x_5 - x_2)(x_5 - x_3)(x_5 - x_4)}{(x_1 - x_2)(x_1 - x_3)(x_1 - x_4)}$$

P. S. BULLEN

(7.2) 
$$V_4(F:x_1, x_2, x_3, x_4, x_5) = \frac{H_4(F:x_1, x_2, x_3, x_4, x_5)}{(x_5 - x_1)(x_5 - x_2)(x_5 - x_3)(x_5 - x_4)}$$

It may be noted in passing that the function f(x) in (3.2) is equal to  $H_4(F; x_1, x_2, x_3, x_4, x)$ .

In particular if 
$$h > k > 0$$
 we write  
(7.3)  $w_4(F:x;h,k) = 4! V_4(F:x+h,x+k,x-k,x-h)$   
 $= \frac{12}{h^2 - k^2} \left\{ \frac{F(x+h) - 2F(x) + F(x-h)}{h^2} - \frac{F(x+k) - 2F(x) + F(x-k)}{k^2} \right\},$   
(7.4)  $\frac{\Delta^4(F:x;h)}{h^4} = w_4(F:x;2h,h)$   
 $= \frac{F(x+2h) - 4F(x+h) + 6F(x) - 4F(x-h) + F(x-2h)}{h^4}.$ 

Using (7.3) and (7.4) we define

(7.5) 
$$\Delta^{(iv)}F = \overline{\lim_{h,k \to 0}} w_4(h,k), \, \delta^{(iv)}F = \underline{\lim_{h,k \to 0}} w_4(h,k)$$

(7.6) 
$$\overline{D}^4 F = \overline{\lim_{h \to 0}} w_4(2h, h), \underline{D}^4 F = \underline{\lim_{h \to 0}} w_4(2h, h),$$

and if  $\overline{D}{}^{4}F = \underline{D}{}^{4}F$  we say that F has a fourth symmetric Riemann derivative and write it  $D{}^{4}F$ . Clearly

(7.7) 
$$\delta^{(iv)}F \leqslant \underline{D}^4 F \leqslant \overline{D}^4 F < \Delta^{(iv)}F,$$

and we have the following lemmas.

LEMMA 7.1. If F'''(x) exists in an interval containing x and if  $\Delta_1(\delta_1)$  is the greater (smaller) of the first derivates of F then

(7.8) 
$$\delta_1 \leqslant \delta^{(iv)} \leqslant \Delta^{(iv)} \leqslant \Delta_1$$

LEMMA 7.2. If F''(x) exists everywhere in [a, b] and  $\underline{D}^4F > 0$  in (a, b) then F''(x) is continuous, convex, and

(7.9) 
$$\Delta^4 F(x;h) \ge 0$$

for every x, h > 0  $(a \leq x - 4h < x + 4h \leq b)$ .

The proof of Lemma 7.1 is very similar to that of Lemma 2.1. Making all the obvious changes define

$$X(u) = F(x+u) - F(x) - uF'(x) - \frac{u^2}{2!}F''(x) - \frac{u^3}{3!}F'''(x) - \frac{u^4}{4!}(\delta_1 - \epsilon).$$

As in the previous proof it is sufficient to show that  $w_4(X:0; h, k) \ge 0$  for all h, k small enough.

Defining

$$Y(u) = \frac{X(u) - 2X(0) + X(-u)}{u^2} = \frac{X(u) + X(-u)}{u^2}$$

https://doi.org/10.4153/CJM-1961-004-6 Published online by Cambridge University Press

it is sufficient to prove Y(u) to be monotonic for u small enough, u > 0. Then if we define

$$Z(u) = 2X(u) - uX'(u)$$

it is sufficient to show that Z(u) has a local maximum at u = 0. This follows since Z'(u) is monotonic decreasing, Z''(u) being -uX'''(u) which by a result similar to (2.9) is always negative.

The proof of Lemma 7.2 is exactly similar to that of Lemma 2.2 owing to the reasons given by Verblunsky in **(7)**.

LEMMA 7.3. If F''(x) exists and is continuous in [a, b] then

(7.10) 
$$\min_{a < x < b} \underline{D}^4 F(x) < 4' V_4(F; x_1, x_2, x_3, x_4, x_5) \leq \max_{a < x < b} \overline{D}^4 F(x)$$

for all  $x_1, x_2, x_3, x_4, x_5$  in [a, b].

LEMMA 7.4. If (7.10) holds for F(x) - G(x), in particular if (F - G)'' is continuous, then  $D^4(F - G) = 0$  implies

$$(7.11) H_4(F: x_1, x_2, x_3, x_4, x_5) = H_4(G: x_1, x_2, x_3, x_4, x_5).$$

LEMMA 7.5. If F(x) and G(x) are defined in [a, b] and (i) (F - G) is continuous in [a, b], (ii) (F - G)'' exists in (a, b) then  $D^4(F - G) = 0$  implies (7.11).

As the proofs of the corresponding lemmas 3.1, 3.2, and 2.3 depend on (6) the proof of these are exactly the same but are based on (7).

Now let f(x) be defined at each point and measurable. If there exists a function F(x), continuous on [a, b] and with a second derivative on (a, b) such that  $D^4F = f$ , we define the  $J_4$ -integral of f to be

(7.12) 
$$\int_{x_1, x_2, x_3, x_4}^{t_4} f(t) d_4 t = H_4(F; x_1, x_2, x_3, x_4, x)$$

where  $x_1, x_2, x_3, x_4, x$  are any five points of [a, b] and  $a \le x_1 < x_2 < x_3 < x_4 \le b$ . The discussion of § 4 applies with obvious changes to this definition. Further, the following theorems can be proved.

THEOREM 4. If

$$\sum_{-\infty}^{\infty} c_n e^{inx}, c_0 = 0,$$

is (C, 2) summable everywhere to f(t) and  $c_n = o(n)$  and if

(7.13) 
$$F(t) = \sum \frac{c_n e^{int}}{(in)^4},$$

then

(7.14) 
$$\int_{x_1, x_2, x_3, x_4}^{x_4} f(t) d_4 t = H_4(F; x_1, x_2, x_3, x_4, x)$$

where  $x_1 < x_2 < x_3 < x_4$ , x are any five numbers.

~

THEOREM 5. If

$$\sum_{-\infty}^{\infty} c_n e^{inx},$$

has  $c_n = o(n)$  and is (C, 2) summable to f(t) then

$$c_n = \frac{3}{8\pi^4} \int_{-4\pi, -2\pi, 2\pi, 4\pi}^{0} f(t) e^{-int} d_4 t.$$

THEOREM 6. Let f(x) be the finite fourth Riemann symmetric derivative of a function continuous on [a, b] and with a second derivative on (a, b). Let f(x) be Lebesgue integrable except at a finite number of points  $\beta_1, \ldots, \beta_n$ . Further suppose that

$$\lambda(x) = \int_{a_i}^x \int_{a_i}^y \int_{a_i}^u f(t) \, dt \, du \, dy \quad i = 1, 2, \dots, n$$

is Denjoy integrable in some interval  $(\alpha_i, \gamma_i)$  containing  $\beta_i$ . Then if we define

$$\Phi(x) = \int_a^x \int_a^y \int_a^u \int_a^v f(t) \, dt \, dv \, du \, dy$$

then

$$\int_{x_1,x_2,x_3,x_4}^x f(t)d_4t = H_4(\Phi:x_1,x_2,x_3,x_4,x).$$

#### References

- 1. R. D. James, A generalized integral II, Can. J. Math., 3 (1950), 297-306.
- 2. R. D. James, Summable trigonometric series, Pac. J. Math., 6 (1956), 99-110.
- 3. R. L. Jeffery, Trigonometric series (Toronto, 1956).
- C. Kassimatis, Functions which have generalized Riemann derivatives, Can. J. Math., 3 (1958), 413–420.
- 5. S. Saks, On the generalized derivative, J. London Math. Soc., 7 (1932), 247-251.
- 6. S. Verblunsky, The generalized third derivative and its application to the theory of trigonometric series, Proc. London Math. Soc. (2), 31 (1930), 387-406.
- 7. S. Verblunsky, The generalized fourth derivative, J. London Math. Soc., 6 (1931), 82-84.
- 8. A. Zygmund, Trigonometric series (2nd ed.; Cambridge, 1959), I, II.

University of British Columbia